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1. WL U=R, A= {XEN‘1<X<10},B: {XER‘X2+X—6:O},|}I\UZ§|§EP|%%Z
FOEANC ) @D
A, {3} B. {2} C. {-3,2} D. {-2, 3}

2. CHESAA 10N TR, BRAH 64N KR, 2R U A B8N TkR, 4 B#¢, &
C,(4 B)YfAxiwm#Ek, WxWBETERZ
A3<x<8xeN B 2<x<8xeN C8x<12,xeN D.1I0<x<L15,xeN

3. B0 f(x),g(x) Al B R R H

%#
X 1 2 4
f(x) 3 4 1
%2
X 1 2 3
g(x) 4 3 1 9
ML £ Lg()] MHRAMZEC )
A. g [f(D)] B. g [f(2)] C. g [f(®] D. g [f(4)]

4, Rae {—1,1,%,3} , MAE R & y = x® K€ SCEON R KOV B a 88 ()

A -1, 1,3 B.-1,1 C.-1,3 D. 1,3
5. W f(x) ENAER FIFREL Mx<0nf, f(x)=2x"—x, M Q)=
A.-1 B.-3 C.1 D3

6. =Au6%, 0.5°, 10805 6 oM TN ¢ )
A 0.5° <log,; 6 < 6" B. 0.5° < 6% <log,, 6
C..log,; 6 < 6" <0.5° D. log,; 6 <0.5° <6°°
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7. BHy= |1g (=1 | WE%E )

S M-

A B c D

e

8. ML f(x)=a"(a>0Ha=#)WTEEKELE X, y #HH
A )= f(x)f(»)
B. f(xy)=f(0)+f(»)
C. f(x+y)=f()f()
D. f(x+y)=f(x)+f(»)

9. ¥ag>0Ha=#1l, x>0, y>0, ne N i, F&RAEBIZ
A. log, x" =nlog, x
B. x%% =x
C. logux:nlogﬁ/;
D. log, x" +log, " =n(log, x+log, y)

10~ FHIG T S A VEN S IER 2

A. ZF S AFAENE 52 RS FH R 0 W bR B0 3 A A AE I, R A R4 IR R B0 05 P

B. R ik T8 T R 2 i — 5 NI M

C. BREL f(x)fEX (8] [a,b] Liksk, TEiXANX (8] L AR AR AN 2 2 (B BT R AUE fR
EsACiR

D. BRAL f(x) EXIA [a,b] BELE, #HE f(a)f(B)>0, MHFF f(x)=07EX]H L
— B LA

11, B4log,3=p,log,5=¢q, Mlg5=
NELEL g lt3pa C. p 4’ p. P4

5 p+q 1+3pg

12 CHIREL £ (x) = a7 [ SO AMEIR 2 [1, 2], W a (1 2 ( )
A2 B%? c.\2 p. L

3
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TLHEERE (4N, BRS gy, 3520 43D
13 2y = f(x+1) 2R [-2, 3], Wy=f(2x-1)KE L

4 M ={x|1<x<3},N={x|2<x<4}, EXM 5NHEEM-N={x|xeM

f(0)=2

f(n+2):3f(n)+5,n€NJiUf(4)=

15, By = f(n)ivfﬁ/@{

16 RIREAM HitHARN: M =1gA-1gA,, Hrh ARRNFESGE T HRE ih 281 &
RIRME, A o AR R TR HEH R IR o SR — R = D3 (i K IR 2 1000,
U AR 1 RE B HR TR )y 0. 001, DU R M FE R FR 44 %o

= RER CRE 3L 6 N, 3L 70 7))

17, /NS 1255 BH £(x) = (m* +2m)-x" """, m AfEn,  £(x) &
(1) IEEH R %,

(2) & Hotsl B

(3) IR

(4) A%

18+ CAR/NEH 4 12 43D
1 1

(D BMa+a’ =3, Ka*>+a fa?+a 2 HH;
(2) 5. (1g5)* +1g2-1g50 .
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19, CA/NBUH Y 1240) B Ad={x|x* -3x+a>0}
(1) Ha=2, RKEAHA;
(2) %FA=R, Kanjul;
(3) #HFEx? —ax—3 =0 MF AL N X, X,, Rx,” +x,” (0.

20 (CA/NEHSY 8 43) Bl lgx+1gy+1g2=1g(x+2y)+1g(x—y), R: logﬁﬁ
y
HI1E -

1

2L($¢@%ﬁmﬁoaﬂ&ﬁﬂm=;;

(1) REH f(x) HI5E K

(2) EB: RH f(x) ATREL:

(3) HWTER% f(x) KIBIE P I E SGIE RIS 185
(4) RRH f(x) BIEH.

22 CARV/NEW 7 12 70D EHE XA R ENRE f(x), MEE Xy BH

1 1
fx+y)=f(x)+1(y)-1, Ef(—5)=0, i—'lx>—55¢, f(x)>0
(1) SRIE: f(x) 72 R LR %
(2) AR 1+ (x> =2)< f(x=2)+ f(a’ —a)
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